2013FE T HORM)—LEHILEMR KE - /N RE—F

IE6L| HIE| sy HBEKA HiEXE |5 RiE AL | MEFR IV | BEFIVL | E|P
1 | 84| 789 | KEE EF [—HUyik) R [za-v—gubaswhtys | 7.65 7.65 BX
2 | 77 1862 |Fpa1l ER |KEWULYY) S |R—=4F—al— 8.13 8.13 BX
3 [ 73 [860 |EERXAR EX |FryJ! 2 [R=F—ay— 8.14 8.14 BE
3 | 13| 768 |E% KA AR @ |A—=bSYFLLTA—K| 8.14 8.14 R
5 |164(879 |BF ¥ Clam(97L4) d [F—=rSUFLUzs—F| 8.18 8.18 BX
6 | 58 | 828 |tk B A)—7 2 [R=F—ay— 8.25 8.25 BX
7 | 63| 870 |5FA T BEGLY) 2 [AR—=4F—al— 8.26 8.26 BX
8 | 40 | 779 |{FEkE Bk JUPTER@ETMW)| & |R—4—a1)— 8.30 8.30 BX
9 | 4 [830 |#E H=E ALEX(FLYIR) | & |[A—=k5uU7rvzs—K| 831 8.31 BE
10 | 79 | 845 |MTA 181 ALE-FAY 2 [R=F—ay— 8.37 8.37 #
11| 83 | 784 |F& A% miu miu@193ay)| & [R—F—al— 8.50 8.50 BX
11 | 46 | 827 |#ki& #21= <Oy 2 [R=F—ay— 8.50 8.50 #
13 | 27 | 818 |2H #5 CANDY(¥+vT'0)| & |R—F—1!)— 8.51 8.51 BE
13 | 43 | 836 |E4t HAE SUN(®#Y)  |R—=4F—al— 8.51 8.51 #
15 | 74 | 867 |\KHE 5AF |T1HIL 2 [R=F—y— 8.54 8.54 #
16 | 49 [ 790 |FE&R =£{&EF |LEO(LZ) S |R—4F—a— 8.55 8.55 BX
17 | 45 | 882 |f&%H E=E FILE @ |F—RrSUFSLxA—F| 857 8.57 #
18 | 25 | 773 | AKX ## Dawn(k—Y) @ |F—RrSUFoLx8—F|  8.59 8.59 BX
18 [ 29 [ 812 |k HE BEZE()Y) A |23y —UbAT b yy | 8.59 8.59 #
20 | 67 | 843 |KH &Et NAYA 2 [BR=F—ay)— 8.66 8.66 30
20 | 8 | 854 [t = [08A¥ = 2 Jo—x2F—)L 8.66 8.66 BX
22 | 66 | 866 [Edh HE  |4h—-th¥ @ |5TS5K—Lby—n—| 8.67 8.67 29
23| 7 | 875 |[&RE X T47 2 |[AR—=4F—al— 8.73 8.73 28
23 | 41 | 880 (=& =t Sya @ |F—RrSUFULT—F| 873 8.73 28
25 | 12 | 804 [ EFX >a7 R |A—=RbSUPVLTS—F| 877 8.77 BE
26 | 18 | 835 [HEH HHER  |TOP(MT) & [R—F—al— 8.79 8.79 26
27 | 34 | 865 B2t HE TWE-ELZA| & |R—F—al— 8.80 8.80 25
27 | 61 | 877 [#AKk #& Foozx R |REVF—KJF—F)L| 880 8.80 25
29 | 14 | 791 (&R Rt ARIES(7YIR) | & |dR—4F—al— 8.82 8.82 23
30 | 2 | 891 [A.E mIE HRECY) R |R—=4F—al— 8.85 8.85 22
31 [ 19 | 780 [F&H %ledk |i@BEGYT) @ |za=y=IubAT Uy | 8.86 8.86 21
32 | 37 | 821 [k =— CHANCE(F+VA)| & |R—4—a1)— 8.87 8.87 20
33 (62805 (&8 B coco@E@l) 2 |5I95F—iLry—i—| 8.88 8.88 19
34 | 50 | 814 [R5 LKk 1)— Q |RMEVITANT 4V Ry 8.96 8.96 18
35 | 59 | 822 [H{Z {#—ER |k —4—1Y- 2 [AR—=4F—al— 9.01 9.01 17
35 | 76 | 857 |@E+{t A V% 2 |575F—nLky—i—| 9.01 9.01 17
37 [ 55 | 785 [FiEx H|E |DvFA @ |24Rvb 9.10 9.10 15
38 | 15 | 782 |{F@#k =& Lyy @ |F—RrSUTUTLE—| 9.17 9.17 14
39 | 57 | 864 [E&IIl % Y0 2 |[AR—=4F—al— 9.29 9.29 13
40 | 33 | 831 |#EF HE BRENDAGZ'LYH) | @ |#—xkSy7rizsi—k| 9.30 9.30 12
41| 70 [ 850 |[HHE S Lindo(>F) @ |5I5F—Lry—i—| 9.35 9.35 11
42 | 28 [ 786 | XA HEF [AA 2 |R—4F—a)— 9.37 9.37 10




2013FE T HORM)—LEHILEMR KE - /N RE—F

IE6L| HIE| sy HBEKA HiEXE |5 RiE AL | MEFR IV | BEFIVL | E|P
43 | 24 | 883 |HZH EF Ik Q |A—=RFSUTZVLTS—F| 9.49 9.49 9
43 | 48 | 886 |kit X5 AV 2 [R=F—ay— 9.49 9.49 9
45 | 35 | 887 |kt X B T S |R—4F—a1)— 9.56 9.56 7
46 | 3 [ 834 |#&HE = Aoz S |RILJA 9.69 9.69 6
47 | 81 [ 892 [XIL #HF EHE A & [R—F—al— 9.85 9.85 5
48 | 80 | 806 |JIIO 3EBA 4T L @ |F—LTFoLry—iR—] 9.91 9.91 4
49 | 39 [ 792 |3kl EF HpD 2 [EvOR 9.99 9.99 3
50 | 51 | 855 |[FERE 1&— 2@ar R |R—4—al)— 10.04 10.04 2
51 | 16 | 771 [#rH Al vxl)— ? |Pr¥—<rix/i—K| 1010 10.10 1
52| 6 [ 819 ' X— AEGL) @ |EvIR 10.11 10.11 1
53 | 22 | 769 (| &FF HY Q [RITAbSz/8—F | 1022 10.22 1
54 | 65 | 846 |Hd =HB LA 2 [#-2b3Y7y57° 5K -0 | 10.31 10.31 1
55 | 53 [ 809 |JIlO B/ TIzBR—L| & |F—LTFoLhy—i—| 1052 10.52 1
56 | 47 | 826 [{ER”RA ETE |/N\—T1— I |%EX 10.58 10.58 1
57 | 10 [ 881 |£H BF JI)L 3 [5T5K—nLby—i—| 10.65 10.65 1
58 | 1 | 885 [X1t X5 HIE 2 [AR—=4F—al— 10.92 10.92 1
59 | 42 | 839 [/BZ H£&E ) 2 [RYFUNARFE—| 11.03 11.03 1
60 | 30 | 801 [/NE #7] 145 R NFIHUINIUE 11.22 11.22 1
61 | 23 | 808 [JIlO 5BH 2LTYvY @ |F—TFoLry—i—]| 11.24 11.24 1
62 | 69 | 888 [LLO %EBA YoT4 2 |[7S5RHUI53a—k| 1150 11.50 1
63 | 54 | 876 [BEMA #£F o b R [RYFUNRFE—| 11.74 11.74 1
64 | 11797 [\NB EX (634 2 [EvoR 11.96 11.96 1
65 | 72 | 813 [dt)Il BH QRER q |ZTYIR 12.25 12.25 1
66 | 17 | 770 |FI&8 FH IS Q |N—=—xwyrgukyy| 1232 12.32 1
67 | 32 | 820 |'hE M2 ?3(%5'—7’%7?1 Q@ |IR—HF—2a!)— 12.50 12.50 1
68 | 21 | 849 (KB FH#t Olas(#74) @ |5TFE—LbY—n—| 12.77 12.77 1
69 | 26 | 838 |BHA fBA <& I |EX 13.21 13.21 1
70 | 78 | 798 |/NEF # &= AL 2 [EvoR 13.72 13.72 1
71 [ 36 | 848 |AH H£= JAY=| 2 [AR—4—a)— 13.75 13.75 1
72 | 44 | 833 |#EMA E£* LEA 2 |[HBiv4 14.07 14.07 1
73 | 56 | 793 |kl HEF HL—Ie 2 EvUR 17.20 17.20 1
74 | 82 | 856 |FEHT SEF |F4 2 |5IFF—Lry—i—| 17.29 17.29 1
75 [ 60 | 884 [J\E& FBHE |LyvlT4— 2 [AR—=4F—al— 1326 | 5 18.26 1
76 | 52 | 878 [MAK =X BEER ? [F—nFrLry—n—| 2360 23.60 1
77| 9 [ 796 |EO #R4E Ho Sl EV 2 24.60 24.60 1
78 | 71 | 781 [{R&R #FF Y05 2 |1ZvHR 27.92 27.92 1
79 | 31 | 842 |[KH &£t N S |R—4F—a1)— £

80 | 38 | 794 [BAF RIE Chester(F125-)| & [R—4—al— Z#E | B
81 | 68 | 851 [k FEH T4—IL 2 [R=F—ay— ki [ BR
82| 5 | 840 |’ FR LT 2 IRYFPUNRE— LT

83 | 75 | 847 [AH {hihF |EFREYLR) S |hR—4F—a1)— 544




